June 4, 2022

Listing Compliance Department BSE Limited. Phirozee Jeejeebhoy Towers, Dalal Street, Fort, Mumbai - 400 001

Scrip Code: 539773

Sub: Disclosure under Regulation 29(1) of Securities and Exchange Board of India (Substantial Acquisition of Shares and Takeovers) Regulations, 2011 ('SEBI SAST regulations')

Dear Sir/ Madam,

With reference to the captioned subject, I Vikas Garg for myself and on behalf of Seema Garg and Sukriti Garg would like to submit that on April 19, 2022 we collectively hold 143,59,223 Equity Shares, representing 6.52% of the outstanding Share Capital i.e 22,01,93,280 of the Advik Capital Limited ('the Company') pursuant to open market transactions as per the details annexed.

In reference to the above, we are hereby submitting the disclosure as required under Regulation 29(1) of SEBI (SAST) Regulations, 2011.

Kindly take this on your records and oblige.

## For Self and on behalf of Seema Garg and Sukriti Garg

Vnhessey

Vikas Garg

Encl: a/a

## <u>Disclosures under Regulation 29(1) of</u> SEBI (Substantial Acquisition of Shares and Takeovers) Regulations, 2011

Name of the Target Company (TC)	Advik Capital Lir	nited			
Name(s) of the acquirer and Persons Acting in	Vikas Garg				
Concert (PAC) with the acquirer	Seema Garg				
	Sukriti Garg				
Whether the acquirer belongs to Promoter	No				
/Promoter group					
Name(s) of the Stock Exchange(s) where the	BSE Limited				
shares of TC are Listed					
Details of the acquisition/disposal as follows	Number	% w.r.t. total	% w.r.t. total		
		share/voting	diluted		
		capital	share/voting		
		wherever	capital of the		
		applicable(*)	TC(*)		
Before the acquisition under consideration:	1				
a) Shares carrying voting rights#					
i. Vikas Garg	2,19,776	0.48	0.48		
ii. Seema Garg	4,600	0.01	0.01		
iii. Sukriti Garg	84,847	0.18	0.18		
b) Shares in the nature of encumbrance	-	-	-		
(pledge/ lien/ non-disposal					
undertaking/others)					
c) Voting rights (VR) otherwise than by	-	-	-		
equity shares					
d) Warrants/convertible securities/any	-	-	-		
other instrument that entitles the					
acquirer to receive shares carrying					
voting rights in the TC					
e) Total (a+b+c+d) (Refer Annexure 1)	3,09,223	0.67	0.67		
Details of acquisition/sale					
a) Shares carrying voting rights					
acquired/sold					
i. Vikas Garg	-	-	-		
ii. Seema Garg	-	-	-		
iii. Sukriti Garg	1,40,50,000	6.38	6.38		
b) VRs acquired/sold otherwise than by	-	-	-		
equity shares					
c) Warrants/convertible securities/any	-	-	-		
other instrument that entitles the					
acquirer to receive shares carrying					
voting rights in the TC acquired/sold					
d) Shares encumbered/invoked/release by	-	-	-		
the acquirer					
e) Total (a+b+c+d)	1,40,50,000	6.38	6.38		
After the acquisition/sale, holding:					
a) Shares carrying voting rights					

i. Vikas Garg	2,19,776	0.10	0.10	
ii. Seema Garg	4,600	0.00	0.00	
iii. Sukriti Garg	1,41,34,847	6.42	6.42	
b) Shares encumbered with the acquirer	-	-	-	
c) VR otherwise than by shares				
d) Warrants/convertible securities/any	-	-	-	
other instrument that entitles the				
acquirer to receive shares carrying				
voting rights in the TC after acquisition				
e) Total (a+b+c+d)	1,43,59,223	6.52	6.52	
Mode of acquisition/sale (e.g. open market /	Open Market (Refer Annexure 1)			
off-market/ public issue /rights issue				
preferential allotment//inter-se transfer etc.)				
Salient features of the securities acquired				
including time redemption, ratio at which it can	NA			
be converted into equity shares, etc.				
Date of acquisition/sale of shares/ VR or date of	April 19, 2022			
receipt of intimation of allotment of shares,	•			
whichever is applicable				
Equity share capital / total voting capital of the	4,58,73,600 Equity shares of Re. 1/- each			
TC before the said acquisition/sale		-		
Equity share capital/ total voting capital of the	22,01,93,280 Equity shares of Re. 1/- each			
TC after the said acquisition/sale				
Total diluted share/voting capital of the TC	22,01,93,280 Equity shares of Re. 1/- each			
after the said acquisition				

\*The % prior to the acquisition are calculated on the basis of share capital prior to rights issue. # The pre shareholding is equivalent to the % of holding just prior to triggering the threshold of 5% of the paid-up capital of the Company.

## For Self and on behalf of Seema Garg and Sukriti Garg

Vnhesse

Vikas Garg Encl: a/a

Date : June 4, 2022 | Place: Delhi

## Annexure 1

			No of shares			Cumulative	Cumulative
Date	Name	Nature	acquired/sold	Price	Amount	Holding	%
Opening as	per last disclos	ure dated 20	-Oct-2021	L	I	23,21,230	5.06%
Transactions between previous Disclosure and reporting disclosure							
21-Oct-21	Sukriti Garg	Buy	33050	3.959	130845	2354280	5.31%
22-Oct-21	Sukriti Garg	Buy	65100	3.94	256793.5	2419380	5.27%
27-Oct-21	Sukriti Garg	Buy	22230	3.71	82511.09	2441610	5.32%
28-Oct-21	Sukriti Garg	Buy	29054	3.79	110076.9	2470664	5.39%
28-Oct-21	Sukriti Garg	Sell	-1206	3.81	-4594.86	2469458	5.38%
04-Nov-21	Sukriti Garg	Buy	3990	3.67	14632.93	2473448	5.39%
04-Nov-21	Sukriti Garg	Buy	16510	3.67	60548.77	2489958	5.43%
30-Nov-21	Sukriti Garg	Sell	-49666	4.66	-231434	2440292	5.32%
11-Jan-22	Sukriti Garg	Sell	-50058	3.16	-158183	2390234	5.21%
12-Jan-22	Vikas Garg	Sell	-45852	3.01	-138015	2344382	5.11%
13-Jan-22	Sukriti Garg	Sell	-66237	2.86	-189438	2278145	4.97%
14-Jan-22	Sukriti Garg	Sell	-41656	2.72	-113304	2236489	4.88%
17-Jan-22	Vikas Garg	Sell	-70000	2.59	-181300	2166489	4.72%
17-Jan-22	Sukriti Garg	Sell	-80000	2.59	-207200	2086489	4.55%
18-Jan-22	Vikas Garg	Sell	-75000	2.99	-224250	2011489	4.38%
18-Jan-22	Sukriti Garg	Sell	-75000	2.99	-224250	1936489	4.22%
19-Jan-22	Sukriti Garg	Sell	-15000	3.13	-46950	1921489	4.19%
20-Jan-22	Sukriti Garg	Sell	-20000	3.28	-65600	1901489	4.15%
24-Jan-22	Sukriti Garg	Sell	-6000	3.07	-18420	1895489	4.13%
31-Jan-22	Sukriti Garg	Sell	-39764	2.84	-112981	1855725	4.05%
01-Feb-22	Sukriti Garg	Sell	-24102	2.92	-70433.3	1831623	3.99%
03-Feb-22	Sukriti Garg	Sell	-7450	2.66	-19796.9	1824173	3.98%
14-Feb-22	Vikas Garg	Sell	-195000	2.58	-502730	1629173	3.55%
14-Feb-22	Sukriti Garg	Sell	-150000	2.76	-413700	1479173	3.22%
15-Feb-22	Sukriti Garg	Sell	-89500	2.48	-222246	1389673	3.03%
16-Feb-22	Vikas Garg	Sell	-75000	2.47	-185445	1314673	2.87%
18-Feb-22	Vikas Garg	Sell	-200000	2.51	-501620	1114673	2.43%
18-Feb-22	Sukriti Garg	Sell	-165450	2.42	-400290	949223	2.07%
22-Feb-22	Vikas Garg	Sell	-20000	2.65	-53000	929223	2.03%
22-Feb-22	Sukriti Garg	Sell	-60000	2.65	-159000	869223	1.89%
23-Feb-22	Vikas Garg	Sell	-150000	2.78	-417000	719223	1.57%
23-Feb-22	Sukriti Garg	Sell	-200000	2.78	-556000	519223	1.13%
24-Feb-22	Vikas Garg	Sell	-50000	2.91	-145500	469223	1.02%
28-Feb-22	Vikas Garg	Sell	-200000	3.20	-640000	269223	0.59%

11-Mar-22	Vikas Garg	Buy	40000	3.13	125076	309223	0.67%
Opening Cumulative Shareholding as on 19-Apr-2022					309223	0.67%	
19-Apr-22*	Sukriti Garg	Allotment	14050000	2.85	40042500	14359223	6.52%